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General Instructions :
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(i) The question paper has 30 questions in all. All questions are

compulsory.
(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are very short answer

questions. Each question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions.

Answer of these questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 marks questions.

Answer of these questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map questions of 3 marks
each from History and Geography both. After completion,

attach the maps inside your answer-book.
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1. QP T 1830-1848 H RIfFa ST a1 o HE TT WIS hl
=R A Tl =21 k1 9 forftau | 1

AT

T &A1 o Sl 9 AT A1eeh fof@e aret oiash o1 9 i |

Name the event that mobilised nationalist feelings among the

educated elite across Europe in 1830-1848?
Or

Name the writer who wrote a play based on the lives of Trung

sisters.

2. AT I FRN i 8 @i forg Jehr 9 SId @ 7 1

How do minerals occur in igneous and metamorphic rocks?

3. e SR foaeft e 6 et il | 1

Differentiate between investment and foreign investment.

4. HoudT shifeTe for STUeRt STt I o SIF Ui o T ol Sht Uk S
TilteHt U<t B | 38R Ut o i TSR B % foTT 31T i 41 IIsg
g () S = ? 1

Suppose you have to buy a packed bottle for drinking water in your
journey. Which logo will you like to see to be sure about its

quality?
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10.

fortlt @@ He W hf5a e fohd TR ATEHM Yepfd o ST 9

fimg? 1

How are issue specific movements different from generic

movements?

foreht T T g o1 9 faRae fSrmeht T T © TeHifas wred
], W 39 TP Terifaeh gt o &9 8 wre=rar 72 fireft 2 | 1

Name any one political party that has national level political

organisation but not recognised as the national political party.

FifeAfera | 9T o ST o Rae ST&Ie il STETs fohd dmred

=i off ? 1
Which organisation led the protest against water privatisation in
Bolivia?

WRA | IS ATk €01 § TSR ohl SRR T 2] o Hehll & 7 1

Why one cannot refuse a payment made in rupees in India?

“srtu=ie & i grg ki fafafien s gdieanted e =nke )
Teh! Afed 38 A it gfE Hifv | 3x1=3

“The credit activities of the informal sector should be

discouraged.” Support the statement with arguments.

1 Tt wg fohg shed 2 7 37eht sl -farfer =t @i shifsre | 1+2=3

What are the sectional interest groups. Describe their functioning.
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11. ‘T TeHifdes g’ @ @AY ® 7 TP TeHifasd g o % fotg
AT Tl T Iooid ShIfeTT | 14+2=3

What is meant by a ‘national political party’? State the conditions

required to be a national political party.

12. “‘I% ITN S H THAR AW ¢ S Fd A G IoAqH AR Jod
3cUTE o <l @l B qigul qer sttt ® 17 389 heF sl =
CIEN 3
“The textile industry is the only industry in the country which is

self-reliant and complete in the value chain.” Justify the

statement.

13. ‘e ufaed & A did fosa 2q qd-enfara €17 5| e % v |
31 ferem =2k ShifsTe | 3

“Efficient means of transport are pre-requisites for the fast

development.” Express your views in favour of this statement.

14. 3N I YSit AT o IR W Ffiehd hiWT | I FoRE TR TH-ER &
T3/ € 7 3aTeton wfea woE i | 1+2 =3

Classify industries on the basis of capital investment. How are they

different from one another? Explain with examples.

15. * “afea oraq <l e AR i or |’ wed i gfy

32N gfed hifsru | 3x1=3

“The Civil Disobedience Movement was different from the Non-

Cooperation Movement.” Support the statement with examples.
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16. 1921 % fFa TSl o1 FUST dAR L fofdm o7 ? TSt o 39 3oe
& fomiareti st ToE Fhife | 142 =3
Who had designed the ‘swaraj flag’ by 1921? Explain the main

features of this ‘swaraj flag.’

17. ‘“CrhdiEoh SO SFa€AT 9Y IE9 ¥a€ql 21 Y & 98 § doh
dfs 3x1=3

“Democratic government is legitimate government? Support the

statement with arguments.

18. “‘WRd SR H a¥qed o SgeAd fasheu 3uctey B 177 el afed
39 YA 1 S SvaieRor o T=e | HifST | 3x1=3

“A wide ranging choice of goods are available in the Indian
markets.” Support the statement with examples in context of

globalisation.

19. ‘‘OwdT 3R Gmed % TIEe sl o1 o foep & forg f smawes 21
9 HYA hT AThei T | 3x1=3

“Cheap and affordable credit i1s crucial for the country’s

development.” Assess the statement.

20. [ H I T ok IRE AR A B foFg ThR TY A1 F9F 4] |
fergeror shifsa | 3

HAYAT
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ST o foeg T & fou ga= & fafs= st gro fore T wemet @
ferraT © TmaTe forg Tehr 39T 7 farvermor hifs |

How had the female figures become an allegory of the nation

during nineteenth century in Europe? Analyse.
Or

How did nationalism emerge in Vietnam through the efforts of

different sections of society to fight against the French? Analyse.

21. vdteRtor fordl hed § 7 JieRoT i URRAT @I TIEd R H SgusE
SHEf} shT SIfEeht =T i IR | 1+4=5

What is globalisation? Describe the role of Multinational

Corporations (MNCs) in promoting globalisation process.

22. TY ! TS LA o [oTC HETCHT Tt Rl 0 Teh IR Scieh ol

foas feu ? ¥qw il | 5
Why did Mahatma Gandhi find in ‘salt’ a powerful symbol that

could unite the nation? Explain.

23. <t foret T ScuTes & | o hisd © 7 wRa ® <A 39 & ane
Iufed fohmal T SH@ TueTati hl SITe hifsT | 2+3=5

Why are sugar mills concentrated in sugarcane producing areas?

Explain any three problems faced by sugar industry in India.

24, =ROT ! HEAYUl TR ThRIH {HeRT T IQTEWN Fled Fu ShiTeIT | 5
Describe the vital and positive role of credit with examples.
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25. gt g H AT 19T STHAIN Sk R & foh TSI el STIAT Sh1H
3leh &1 ¥ T8l Ad | Rl |led 38 e 1 forzetwor i | 5

“All over the world, people express their dissatisfaction with the
failure of political parties to perform their functions well.” Analyse

the statement with arguments.

26. HIETE AN % S ANfed TEAH hl AEHT 9T R ok fIw i
ShTT=deRTI g1 IRFY foRT U IUmi 3T Rt ot forgersor hifsru | 5x1=5
HAAAT
“fomrde I H SRR o g5 H FE USH € TH A9 SR UREW g S
forraintl < Tre-wry sTifRal & foTe siga wem wifed gt 1 39
Y o1 Tageryor A |

Analyse the measures and practices introduced by the French
revolutionaries to create a sense of collective identity amongst the
French people.

Or
“U.S. entry into the war in Vietnam marked a new phase that
proved costly to Vietnamese as well as to the Americans.” Analyse

the statement.

27. “‘ferelt Sm1 it enfdier 3afa fafsmtor e & fomrrma & ot Sl R0
Tent Aled 38 e i g8 Fif | 5

“The economic strength of a country is measured by the
development of manufacturing industries.” Support the statement

with arguments.
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28. ‘‘zaTd TR 3TN eI TSHifd W fafie yehr @ yure g €17 59
o ! ITYH ISTEN died ¥ hIfT | 5x1=5

“Pressure groups and movements exert influence on
politics in different ways”. Support the statement with suitable

examples.

29, o9 @& A, B 3R C, WRA & feU U UsHifder @T-AHtas # 37fhd
forw w2 | 9 T o feferfaa STeRit st gerEdT @ yg=e it
3ok GE! A Ao W EiE 78 Wreh ) fafge 3x1=3

A. T T S8l IRATT UL G o STREH e ot |

B. 9% T STl foRuTHI o Heamie ¥ J1 g 2 |

C. 98 TR S AT SHT T & G ferd 2 |

Three features A, B and C are marked on the given political outline
map of India. Identify these features with the help of the following
information and write their correct names on the lines marked in

the map :

A. The place where the Indian National Congress Session was
held.

B. The place associated with peasant’s satyagraha.

C. The city associated with the Jallianwala Bagh incident.
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e : ffofad yed shaa greartem aderfera & fog s ge 29

% TIH W :

(29.1) 39 T &1 A fAfgu, S|l 1927 H WRAT T R &
SARrerT g o |

(29.2) 39 TST &1 9 Tofgu, SrEf Hia &l Tt HE JTdl | qmE
foRam o |

(29.3) SiferataTat ST Sl ST | He e e 1 AW ffau |

Note : The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 29 :

(29.1) Name the place where the Indian National Congress

Session was held in 1927.

(29.2) Name the state where the Indigo planters organised
satyagraha.

(29.3) Name the city related to the Jallianwala Bagh incident.

30. 9RA % fou U o W@r-amtas § fefafaa o S el @

qRMEY, 3T I7eh T ferfay 3x1=3
A. FHAT — qeA-&nl
B. MR - e d 9 €

B. TR — @ T 0
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On the given political outline map of India locate and label the

following with appropriate symbols :

A. Ankleshwar — Oil field

B. Durgapur — Iron and steel plant
C. Tuticorin  — Major seaport
e : efafgd g o gieantem afentea & foy e @@ 30
MR E:

(30.1) SThoval da & fohe Tea | fea 2 7
(30.2) YR AreT ¥ 3eaTq a9 fop T o fera 2 7
(30.3) WRA o Sregurad T aae 1 AW fofe |

Note: The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 30 :

(30.1) In which state is Ankleshwar oil field located?
(30.2) In which state is Durgapur iron and steel plant located?

(30.3) Name the southern most major seaport of India.
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